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qﬁm W INSTRUCTIONS TO CANDIDATES

] Read the following instructions carefully before you answer the questions.

o Tt FUATgEt Qe gE w@iqda e, g S T IR You have to write your answers in separate answer sheet:
AT T 1. Please write your Centre Code and Seat No. very clearly (only one digit in

i i bl L one block). Before writing your Seat No. get it ascertained.
1. T T $F TEAF A0 A wHE SEme gee e (T deda e

i : Please see that no block is left unfilled and even zeros appearing in the
HF AYE) WA AW HAS (AevEgel o siel seedrdl @El wEd AL

Centre Code and Seat No. are correctly transferred to the appropriate blocks

FIVEET T fEd TR AR A= 3 . TGS & SEruE Fadd e on the booklet and on the answer-sheet.

A FHH 9 FE Fepdieh AIa ToE HF A YA FoI AT 0 e For all subsequent purposes your Centre Code and Seat No. shall remain the
JeTETonY: same. Centre once allotted will not be changed.

CENTRE CODE % Herdish ~ Example :

CENTRE CODE =g Hehdish

SEAT NO. 3THA %HI%

SEAT NO. 34 &HI%

" 2. YT W T U SR
_3.Hﬁuﬁ¥i‘ﬁ:ﬁﬁtmaﬁ%ﬁ. ]
4. TETEN UV 3@ 49 THE W oEt W 9% 9, T, B T Sefaram

2. All questions carry one mark each.

3. uesti are compul

4. If you do not know the answer to any question, do not spend much time on

o T W HieT FedE el 9P g e e g TR e e A it and pass on to the next one. Time permitting you can come back to the
5. Wy Hiefavamet e e @@ faarE 5 T ST ST ST S . questions which you have left in the first instance and try them again.
F. T T WIS et e et e T 5. Since the time allotted is very short you should make best use of it. The

rough work is to be done on the last page of the question booklet.

[ : 6. Remember you have to mark on your answers in "Scholastic Aptitude Test"
Section of the answer-sheet only.

6. T Sa TR Sl AeiavaEd] “gnerd swen areit” Scholastic Aptitude Test
e SediE et AR 9=l el HL

7. WEE TSN SR WAy YA e aed. e Siet Seedl gaiEr : 7. The answers to each question are given in the question paper. See the number
FHIF TR 9 STt e I TAEHiEgE Aued and i wae e Gl of correct alternatives among them and by selecting the correct option
T A e T TEiteT 1. : number of the appropriate questionnaire on the answer sheet, highlight it

T i with BLACK/BLUE pen only.

B v - yRen e e I W_m TS R SR 8. Do not write anything except Centre Code Seat Number and rough work
Ty, L : ' anywhere in this booklet.

9, A YAl A AisfavaE gean FA 9. Now turn to the next page and start answering the questions.
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(1) f=as (2) EiEs (3) 7= (4) fe

. 1.5 i, deEer 2 e (N/m?) 3E FEin @ o @ sgE aod el
fadit 2
(1) 0.7N (2) 13N (3) 3N (4) 3 dyne

(1) SEETIE g el (2) TAETCE T/ FA S
(3) T TEAeE deeren STl (4) TS EaeE U Feen 2R,

(1) @ (2) 7@ (3) wid (4) e

. 7 i A e dreetsl svavenn fred Fea dsensde?
(1) 37 G9%i9 HoE YA TR F6d SeE.

(2) TR Gawia faardm g TEEE 99 AR,

(3) SoFM gawmE uRHien ST,

(4) ()3 (3)aFE.

(1) T frm TR Wm TR

(2) afmfi| weEdT gzadid JowrEEa B,

(3) TEda fFm wwia 9EE AR

(4) vrada fen famga JeymEl W6,

AT FIE TR ...oocrenssesessesissannes T TAW e
(1) frafim woada (2) wfmfm goad
(3) TTE (4) THETE HEA
| NMMS-MS-SAT | Vil | SI 4 0f 32

SCHOLASTIC ABILITY TEST

1. GMRT is set up at
(1) Chinchwad  (2) Khodad.

(3) Panvel (4) Nashik

2. If 2 pascal (N/m?) pressure is acting on area 1.5 sq.m the find the valuc of
force excited?

(1) 0.7N (2) 1.3 N (3) 3N (4) 3 dyne
3. What is the reason when we see the bleeding through the nose of child in
summer?

(1) Atmospheric pressure increases (2) Atmospheric pressure decreases
~ (3) Blood pressure in body increases (4) Blood pressure in body increases

4. Find odd one out

Iron, Nickel, Copper, Cobalt
(1) Iron (2) Nickel (3) Copper (4) Cobalt

5. If two objects are attracted, then what is/are inference/s.

(1) Alike poles of two magnets are close together.
(2) Unlike poles of two magnets are close together.
(3) Magnet attracts magnetic substance.

(4) Both 3 and 4.

6. With respect to irregular ﬁmﬁnn which of the following statements is incorrect.
(1) Laws of reflection are not followed.
(2) Irregular reflection takes place on rough surface
(3) Reflected rays are not parallel.
(4) Reflected rays are scattered over wider surface

7. Image formed in mirror is dueto

(1) Regular reflection
(3) Refraction

[NMMS-MS-SAT  [VII| S1 |

(2) Irregular reflection
(4) Transmission of light.
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8. vIreE= ATEER EHes 3 FafiE ag g i e srogE et s

(1) TEEE STeREE 9 WU SEm,
(3) Wvare SEve.

(2) e a9,
(4) (2) 7 (3) T

(1) 6 x 10" 7kw (2) 6 x 1018 kcw
(3) 7 x 10 Tkw (4) 7 = 10"%kw
10. “mfifs =g sroren S A U AR A EidieEl HIE PO w0
T E?
(1) & =%t ¥ T (2) s FvEE Y frees T "
(3) % =@ 3 Tew I AR (4) vaeAER A 2@ o,
(1) formgasE wad (2) fargaumn it
(3) faeran ga=g (4) vafda gasa
12. fopp igudiel esea FEEE 4 SR a9F w@E fEe
maa:[l : m:al
1. |fRE = (i) |forem =ew PRy
2. |fa=@ Sw=m (ii) |TorgmaeTean fa=m
3. |9®s 97 (iii) | fawaia Fmim =101
4. |FH=-a% BN FB (iv) | fagm o= =@ .
1. 1-1i 2-1 3-av 4 — 111
2. 1-in 2 —iv 3-1u 4-—1
3.1 -1iv 2-1 3 —ii 4 —1i
4. 1 -1 2-1 3—iv 4 -1
13. Grlt I FAFA cooreerrrecrneens VT TAEA SvgmEEE S
(1) faee ga=@ waE
(2) forEaan gasE T N s
(3) fergmi=n <o gftomw
(4) wafia gawa T b1
e
G
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8.

According to opinion of scientists mineral oil and Natural gas are formed from?
(1) Marine remanants of plants and animal

(2) Remanants of plants

(3) Remanants of animals

(4) 2 and 3 both.
9. Earth receives about abundant energy per year.
(1) 6 x 1017 kW (2) 6 x 101 kW
(3) 7 x 1017 kW (4) 7 x 10! kW
10. ‘Natural gas is a very convenient fuel to use’. For above statement which of
the followings property is not applicable.
(1) It lights up quickly.
(2) It does not leave behind any solid substances.
(3) It is cheap and easily available.
(4) Its burning can be easily controlled.
"11. The working of electric bell is based on effect.
" (1) Electromagnetic induction (2) Electrothermal
(3) Electromagnetic (4) Induced magnetism
12. Find out the correct pairing option between component of electric circuit and
its function.
‘A’ column ‘B’ column
1. | Electric cell _ (i) |indicates the flow of current
2. | Electrical gadget (ii) |controls the electric current
3. | Conducting wires (iii) |develops potential difference
4. | Open-close type key (iv) |conduction of electric current.
(1) 1-ii 2-1 3—iv 4 — iii
(2) 1—iii” 2—1v 3-u 4—1
(3) 1 —iv 2-1 3 — i 4 —ii
(4) 1-iii 2-1 3—iv 4-1i
13. Following diagram is to understand ___ experiment.
(1) Electromagnetic induction X 5

(2) Electromagnetic effect
(3) Electro thermal effect
(4) Induced magnetism

21C))
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14. fdm (CH,) =1 wgmed Freq= wgm f?

(1) 2 (2) 4 (3) 1 4)3
15. ww feronads W9 S ?
(1) T3feA (2) =m (3) &= (4) FrowE ==
16. = v fom TagEiRe Al W FETH oececeeeennennsnns ar Rt vEdl.
(1) ergem (2) TEgeA HEERE
(3) wirer= (4) FETEEATEES

17. Na,CO, + 2HCl —> A+B+C
afte wifafedda A, B9 C i@
(1) NaCl + 2H,0 + 2CO,
(3) NaCl + H,0 + 2CO,

18. EFeds! FE SEdgan WS A i e e W ?

(2) 2NaCl + H,0 + CO,
(4) NaCl + H,S + CO,

(1) W=l FeEdmE (2) TEBvTaiEE
(3) e (4) FrEETE
19, wfr dore 2w, fedw @ W EEiEiE SO TS I8 B
(1) Feeare (2) st
(3) fag@ arwereA (4) waTst AT

20. G Apde fAftam F0 3 9@t feEvm ‘X' 9 v 9 e

; Bt ==X
"

(1) CO, (_1} H, (3) 0, (4) CO
21. i@ Oty ERiets S O G ar?
(1) @ + feq (2) e + ke
(3) s + a (4) wifgem + FeFa
NMMS-MS-SAT [ vili [ §1 | [ 80of32]

14. The valency of carbon is methane (CH,) molecule is —
(1) 2 (2) 4 (31 (4) 3

15. The charge present on alpha rays are

(1) Neutral (2) Negative (3) Positive (4) None of these

16. Which gas is evolved, when zinc metal reacts with dilute hydrochloric acid
(1) Hydrogen (2) Hydrogen sulphide
(3) Oxygen (4) Carbon dioxide

17. Na,CO, + 2HCI A+B+C
Identify A, B & C in above reaction

(1) NaCl + 2H,0 + 2C0,
(3) NaCl + H,0 + 2CO,

(2) 2NaCl + H,0 + CO,
(4) NaCl + H,S + CO,

18. By which following process, common salt from water can be separated?

(2) Filtration process
(4) Chromatography

(1) Fractional distillation
(3) Distillation

19. The compounds like Petrol, Diesel from crude oil is seperated by
(1) Distillation (2) Chromatography
(3) Electrolysis (4) Fractional Distillation

20. Observe the following diagram, the gas evolved *X is
Aluminium

metal —"X'
|" \

NaOH
.. :-.-il -—’. i
sl Solution

(1) CO, (2) H, (3) O, (4) CO
21. Alloy Bronze is a mixture of following metals

(1) Copper + Tin (2) Copper + Nickel

(3) Iron + Copper (4) Chromium + Nickel
[NMMS-MS-SAT |vIn] Si | -




22, ERIETE FIUE RiouTSl UHH AR
(1) 2 (2) formEe (3) fazirm

23. feeitn A o w9 FUEEET B SHE AR S

 (4) fufeEh

(1) foraee (2) TRfEm (3) € (4) i
224 @ 3m°c 2KCI + 30,
aﬁﬁr&ﬁra A #EE
(1) KCIO, (2) 2ZKClO; () KCI (4) KMnO,
25, SE WEwETem=a A gede e, ] ST AT SO STATEOTE

R T 9 T .

(1) CO, 3 0O, (2) 0,3 CO,
(3) 0,3 CO, (4) CH, 3 CO,

26. @IS FraE age TeHY A
(1) &eirmm, fsifa aen A
(2) i, FE TEHITEES, THiE
(3) i, SwieA, FETSEEES
(4) 30, S, FETEEHEES

ITmﬁmmgﬁmmﬁnﬁqﬁme

(1) IEH (3) WiEER (4) Faw
M I Heitad 99 SeR  AEan
(1) feramoy (2) wiEmy (3) anfe=ia (4) fFma
20 it foam T2 wRE U ‘wRieiEE’ ® faed W T e
(1) Bfra=ma (2) FRegfesm  (3) HEER (4) Tsgifasm™
30, TEEH T cocvesnrnnenns . TR #R. :
(1) Fasm= (2) ¥R (3) nfesiamn (4) fFvan
[NMMS-MS-SAT [ VIl | S1 |

22. Which of the following is not a type of coal.
(1) Peat (2) Lignite (3) Bituminous (4) Silicon

23. In drilling machine & in glass cutting the following substance is used.

(1) Lignite (2) Magnesium (3) Diamond (4) Platinum
24. (A) a0 2KC1+ 30,
Identify A is ab-n-ve reaction
(1) KCIO, (2) 2KCIO, (3) KCI (4) KMnO,
25. In photosynthesis process, plants use & evolve gas

in atmosphere.
(1) CO, and O,
(3) O, and CO,

(2) O, and CO,
(4) CH, and CO,

26, Identify, the group of Inert gases

(1) Helium, Neon, Argon (2) Oxygen, Carbon dioxide, Helium
(3) Neon, Oxygen, Carbon dioxide (4) Argon, Oxygen, Carbon dioxide

27. For maintainance of natrue's chain bacteria plays an important role they includes
under i

(1) producer (2) herbivores  (3) camivores  (4) decomposers

28. has a simple structures without Cytoplasm or organelles.
(1) Virus (2) Bacteria (3) Protozoa (4) Yeast

29. _ bacteria produce a poisonous substance called enterotoxin in
foodstuffs
(1) Staphyllococcus (2) Clostridium (3) Azetobacter (4) Rhizobium

30. Diatom is type of organism
(1) Fungal (2) Algal (3) Protozoan  (4) Yeast

[NMMS-MS-SAT |[vHI| SI | -_ [ 11 0f 32]




8Ll & U T aids Sgen wwier R safEmd wghie wiee e

(i) 304 (2) T9IUA (3) fawr=r (4) &3

32, wfew Mg Suad SR e fejeemEt ‘el an wedd aRd
(1) i (2) wifem (3) == (4) =

33, =idfterdst SR dfas 92E uEEsE T ?
(1) FEm (2) Fa5 (3) feramoy (4) Y@=

34. WENTE VEATE OIfAE AR SUERH WISl HIveE AEEgE TEael S
(1) 708 (2) sfawm (3) agua (4) T

35. it sEE SefararEE EETEdR] S WeaTE ST Shell Wi Al
(1) ser (4) %@

(2) 9@ (3) 3=

36. =il fme faumm =gt sea
(1) F@E2 — A AR
(2) feprm — i |om
(3) faear — =wmavit
(4) MR — AR

37. SFeN WA SISTONA TR Seld @a S0 e AeEd w6?

(1) Femm] =a (2) =arR=

(3) S (4) TarEfE &
38, wfmEms ... TgaE 9o 2.

(1) fasire (2) EEE

(3) I ; (4) =i
39, wiftr Sl srevas TV UTYESd Fivd

(1) ufer ’ (2) ¥=

(3) FTERE (4) dg7a v

[ NMMS-MS-SAT | vill | s1 |

31.

; 35

' 36,

disease is caused by direct contact of diseased person to the healthy

person

(1) Eczema (2) Influenza (3) Typhoid {4) Tuberculosis

12, Forthe control of which disease world health organization (WHO) implemented
DOTS centre?
(1) Cholera (2) Polio (3) Tuberculosis (4) Rabies

33. Which of the following living constituents are not found in soil?
(1) Bacteria (2) Fungi (3) Virus (4) Algae

34. By which way the social forestry project of the Maharashtra Government is
carried out in the school?
(1) Vanarai (2) Harit Sena  (3) Vasundhara (4) N.C.C.
Which of the following animal is not hamessed to work agricultural implements?
(1) Horse (2) Bullock (3) Camel {4) Buffalo
Identify the incorrect pair from the following.
(1) Spade —  pull the soil
(2) pickaxe — to dig the ground
(3) Scythe -~ harvesting
(4) Tiphan —  ploughing

37. Name the fertilizer which is made from the bones of dead animals?
(1) Bacterial fertilizer (2) Compost
(3) Bone meal (4) Chemical fertizlizer

38. In Amocba reproduction takes place through method

(2) Fragmentation
(4) Budding

(1) Binary fission
(3) Vegetative

. Which nutrient is essential for body building?

(1) Proleins
(3) Carbohydrates

(2) Fats
(4) Fibrous substances

| NMMS-MS-SAT
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40. v IR T 10 @ 12 fae 3y feevamEl foa s S g6t el
l?

(1) =t (2) Z=mit (3) 18 [ (4) F9R
41. ‘s Zifgr’ w1 o9 = fafeen?

(1) Ha A (2) Wa FHTR
(3) W TEEM (4) W THA
42. sraE A i s fafon sfus=r wE s
(1) T2 FmE= (2) =g w=ia
(3) =g =iantem (4) =g afam
43, savdt fEsl TR TETEF e TSET Al
(1) frard (2) faem
(3) wareTE (4) TS

44, FrmIIZUen e weRde weE e

(1) 3m= | %= (2) 309 9 T A=A

(3) 3= = fey oA (4) 309 YHAERE WEAH
45, &\ S A FeaEy Aecen w9 fom

(1) =amedil A9 FERAE =i e,

(I11) 30 FaweAET omfehs W S el

(IV) drza & w2

(1) (IV), (1), (I1), (LIT)
(2) (I, (IV), (1), (I1I)
(3) (11D, (I1), (IV), ()
(4) (IV), (11), (1), (111)

4&.%%%@@%%#@%@#&?

(1) Freiam ‘ (2) =it @y e
(3) art-=-Tm (4) wfzarz Hem

NMMS-MS-SAT | viii | St § 14 of 32

40. To obtain daily 10 to 12 litres milk the Indian cow is crossed with which bull?
(1) Dangi (2) Devani (3) Red Dean (4) Kandhari

41. Who wrote the epic book ‘Bhavarth Deepika?

(1) Sant Namdev (2) Sant Dnyaneshwar
(3) Sant Tukaram (4) Sant Eknath
42. Identify which British officer organized Civil Services in India.
(1) Robert Clive (2) Lord Macaulay
(3) Lord Cornwallis (4) Lord Bentinck
43. Chhatrapati Shivaji Maharaj's coronary ceremony took place on Fort.
(1) Shivneri (2) Singhgad (3) Pratapgad (4) Raigad

44. The conflict at Srirangapattan occured between which two rules.
(1) British and French
(2) British and Bajirao II
(3) British and Tipu Sultan
(4) British and The Mughal Emperor Shah Alam
45. Arrange the following events in chronological order .
(I) The colonies issued the Declaration of Independence.
(II) England acknowledged their independence. :
(II) Thirteen colonies together established the federal republic of America.
(IV) Bostan Tea Party.

(1) (IV), (D, (11), (11I)

(2) (1), (IV), (0, (D)
~.(3) (), (I1), TN (D

(4) (IV), (10, (I (111)

46. Who's co-sailors completed the circumnavigation in the first sea-voyage in the
history of the world?

(1) Columbus (2) Bartolomeu Dias
(3) Vasco da Gama (4) Ferdinand Magellan
NMMS-MS-SAT _|[viO| 81 | -




47.

49.
50.
S1.

S2.

35.

gm af @ W S wien Wi davaren g Fo ween fa e

(1) 7 e e (2) TRz T AREHT
(3) =1 3 e (4) TR SR
R B [ B = [ L | S— T e
(1) =E=aEr faaas et (2) dwra few

(3) Wfea wERwE e
Aafas TR e SamEr e v T

(1) Hem A= (2) 4. SERtE e

(3) s fadmEn s (4) FeoTIE =E
AT A WS T covereseessemseasssenes B

(1) iR (2) = (3) SAFR (4) TS0ER
TEN WEGE Seard Al a9 FAl Sl g o=
(1) @afem (2) TER SHWiEm

(3) sPrarEm (4) TEagtEn

AT M Seadiie SeeHaarl Fleae Hivm?
(1) 1857 7 1885 (2) 1885 @ 1905
(3) 1905 7 1920 (4) 19203 1947

Tieds URugl A9 sfeaid wfatfaeE Sl oe?

(1) 2l aERd A=SH (2) wemERE 9
(3) TirIREEmE SETET (4) weTen M

g IR Seede wEE @ aviA S e W2

(1) S TG (2) GFFREL IR

(3) A = (4) AW Hers wEs
(1) ek <= : (2) wrEz ¥
(3) ¥we f&Fm (4) Tt it

[NMMS-MS-SAT | vill | S1_ |

47. Who had strongly objected to the attitude that confined woman to kitchen and
child-rearing?
(1) Gopal Krishna Gokhale (2) Gopal Ganesh Agarkar
(3) Dr. Anniec Besant (4) Dadabhai Naoroji
48. stated that the revolt of 1857 was the First Indian War of
Independence.
(1) Swatantryaveer Vinayak Savarkar (2) Lokmanya Tilak
(3) Pandit Nehru (4) Krantisinh Nana Patil
49. Identify the First Person to launch individual Satyagraha.
(1) Maulana Azad ' (2) Pt. Jawaharlal Nehru
(3) Acharya Vinoba Bhave (4) Vallabhbhai Patel
50. was the largest princely state in India.
(1) Kashmir (2) Baroda (3) Junagad (4) Hyderabad
51. Find out the correct alternative of revolutionary who killed Michael O'Dwyer
: in England.
(1) Anant Singh (2) Sardar Udham Singh
(3) Bhagat Singh (4) Gurubaksh Singh
52. Which period is regarded as the extremist phase in the freedom struggle of
India?
(1) 1857 to 1885 (2) 1885 to 1905
(3) 1905 to 1920 (4) 1920 to 1947
53. Who represented the Dalits in the Round Table conferences?
(1) Dr. Babasaheb Ambedkar (2) Babasaheb Bole
(3) Gopalbaba Walengkar (4) Mahatma Gandhi
54. Who is described as the ‘Father of the Indian Workers Movement.?
(1) Lala Lajpat Rai (2) Muzaffar Ahmed
(3) N.M. Joshi (4) Narayan Meghaji Lokhande
55, Which one of the British Minister was not included in The Cabinet Mission?
(1) Pethick Lawrence (2) Mountbatten
(3) Stafford Cripps (4) A.V. Alexander
[ NMMS-MS-SAT | VII| S1 4 ; [ 17 of 32|




56. 7R fiz ¥4 FH F@een
T fee 56. Which one of the following alternative is the campaign of Azad Hind Sena?

(1) H_IHHEﬁH 74 Hieda amit fawe (1) Posts on the eastern border of Assam were captured
(2) wiad =dfd oer=t TUTA et (2) Established Forward Block Party
(3) wicear= T el 1 (3) Established a parallel government

(4) 3=a foeomrh Tewi ot Sueey W R (4) Awailability of higher education for youngsters.

57. As per the diagram given bellow which

57. awiier g Frdao a:;%aa E;m E letter refers to “New moonday’ O 'Q} & i %
IEP' L85 ' == P @ Q POROr 00—
(1) (2) Q S 3R 4) S O CS, ®/ ==
(3) R (4) S =x (3) (4) w ==
58. EEfedst Wb WHSId WHIfE FEUA 39 S0 - 58. Which nation of the following is not member of ‘SAARC’ organization?
(1) 9= (2) A (3) =R (4) TrEry . (1) Nepal (2) Bhutan (3) Mynmar (4) Bangla Desh
59. 'wE' ¥ W@ SAngE e SeEN R 59. On which island Mt Etna, an active volcano is located?
(1) wifEf (2) =it (3) U= (4) fafaed (1) Sardinia (2) Corcica (3) Pelopniz (4) Sicily
60. it ST Frlan 20 s < e S -8 Akper given disgramyTetie ZoasJollt il o ot %
(1) =y =z £ (1) Epicentre P
(2) st (2) Focus
(i} Yl (3) Surface Waves
(4) Wt Tl (4) Primary Waves
61. I g @Y s R N _61. Which option shows correct pairs at matches.
I - I i I 1I |
(a) m (A) |dFaren ami : (a) |Kimberley (A) |Gold mines. :
(b) | (B) |¥ritsr =it (b) |Congo (B) |Manganes mines.
E; ::'ﬁﬁg (€) _|feaion =mh (c) |Wilwaterand (C) | Diamond mines. |
: 3 (D) |ai=r=n Smit (d) | Ghana (D) |Copper mines. |
fzi'a— b-A c-B d-C (1)a-D b-A c-B d-C
(2)a-B b-C ¢c—D d-A - 4 = AT
* 3 (2) a—B b-C c—D d-A
()a-C b-D c—A d-B 3)a-C b-D c—A d-B
(4) a-A b-B =
i A d-D @) a-A BB 6C i-D
NMMS-MS-SAT | Vil | s1 [18of32] NMMS-MS-SAT | VIII| S1 | 5 [190f32]



62, SAWH HEHT TRT ST TEF TIW oreeeeeeeeeneemssssnsnns

(1) T2 (2) sAfT=
(3) =z (4) TTE==

63. Taferm & dWfiEm o1 qeseen WA e gedtar 9 il
(1) Wreo (2) M (3) HrEm (4) faa=

64. =Er= UEIfE 9T U9 SRR ATE . -

(1) ===t Susfeert (2) dz=en
(3) et ; (4) =izt aray et

65. TRE 7 U e Al
(1) a9/ (2) 9P (3) &= (4) I51
66. Irg SEgi wiE Al

a1 ' |
(a) |worafiads (A) |faem h.
(b) |gem (B) |t===
(c) |arsm (C) |wmfirdt
(d) |=wg=n e (D) | fedemr T
() a-C, b-D, c—A, d-B
(2) a-B, b-A, ¢c-D, d=C
(3) a—A, b-B, c—-0C, d-D
(4 a-D, b-C, c-B, d-A

ﬁT._qﬁmﬂEuﬂmﬁmﬁﬁﬁﬁmaﬁﬂm?

(1) wufas 95+ S ) BT
(3) o= (4) o waF

() @ — #=" — R — fFd o[
(2) fFTi A — ¥R - WR - v
(3) TeA — fFr #eF@ — v — weR
(4) T — @R — #A — feEar dwE

[ NMMS-MS-SAT [ Vill | S1 |

62. Which one of the following do not contain fossils?
(2) Igneous Rocks
(4) Limestone

(1) Sedimentary rocks
(3) Sandstone

63. Which layer of the earth consist of compounds of silica and magnesium.
(1) Mantle (2) Core (3) Sima (4) Sial

64. The changing shapes of the Moon are called
(2) Phases of Moon
(4) Apogee position

65. Find the odd man out from the following :
(1) Wind (2) Sea
(3) Groundwater (4) Earthquake

(1) Perigee position
(3) Ashtami

. 66. Find the option shows correct matches.

A B

a. [\*rfavg_ cut — Platform (A) |Chilka

b. | Beaches (B) |Revdonda

c. | Lagoons (C) |Ratnagiri

d. | Sand Bars (D) |Dive Agar
(1) a-C, b-D, c—A, d-B
(2) a—B, b - A, c—D, d-C
(3) a—A, b-B, c—-0C, d-D
(4}3_]}: b_'c; C—B, {i——!!'h

67. Which component from ecosystem produce food?
(1) Primary consumer (2) Producer

(3) Decomposer (4) Secondary consumer

68. Select the option that shows physiography of Germany from South to North.

(1) Mountain — Plain — Plateau — Coastal area

(2) Coastal area — Plain — Plateau - Mountain

(3) Plain — Coastal area — Mountain — Platean

(4) Mountain - Platean — Plain — Coastal area
[NMMS-MS-SAT  [vor| si1 | -




(1) PSV (2) PSG (3) GPS (4) GSP
70. @r= wEt St

(1) Temrs - TS (2) FAfew - @

(3) TEFWER - M (4) 9 - SFFEE
71. wHArE WE e FIE AR

(1) Feaia (2) forehe (3) 2= (4) gi=t
72. s S e

(1) |93ar - HHM HAdUEie @HeEA {6

(2) 5% IR - T-T HaUEiE AGeed Heaa o

(3) d9 AR = - @ oo Adcicdl WHregdl 1o

(4) ¥iqd® IAR - WG Hedien HEreEd W g SHeA
73, TR ununEdE aifdE TeE WYE aRE SR aEeen gmig fEe

(1) waETm (2) fafEE
(S}ﬁﬁlﬁr TR (4) wehseEn
T4, TEEEEN HEEE AR AR AR s 99
(1) 18 (2) 25 (3) 21 (4) 30
75. dfE g A i qUEYY Headen (Yiagey’ W R
(1) smfiE (2) == (3) ¥Ra (4) AL

76. T WYFE 9 GEHEN ANE Erd wel S
(1) Swae - 550
(3) wewre fauras - 388

(2) T=|sr - 250
(4) werreg faum 9fiwg - 78
77. ‘HER R wE dada SR

(1) vatem ‘ (2) T

(3) 7 arestaon (4) TErHRE

NMMS-MS-SAT | VI | _SI

69. Global Positioning System Means
(1) PSV (2) PSG (3) GPS (4) GSP

70. Find correct pair from following
(1) Maharashtra — Gopal
(3) Jammu and Kashmir — Taga

(2) Kamataka — Todas
(4) Saurashtra — Bakkarwal

71. Which is the popular game in Germany?
(1) Football (2) Cricket (3) Tennis (4) Hocky

72. Find out wrong pair from following :
(1) Uniform Slope — Equidistant contour lines _
(2) Gentle Slope — Contour line are far away from one anoth
(3) Steep Slope — Contour lines are close to one another

(4) Concave Slope — Contour lines with higher values move far away
from one another.

73. led to an increase in the influence of the economic factors on
foreign policy.
(1) Environment (2) Globalisation
(3) Size of a country (4) Population

74. A Rajyasabha candidate should have a minimum age limit of years.
(1) 18 (2) 25 (3) 21 (4) 30

75. -The tense relation between the Soviet Union and are referred to as
the “Cold War’.
(1) America (2) China (3) India (4) Germany

76. Identify the incorrect pair of the house and the number of members.

(1) Lok Sabha — 550 (2) Rajya Sabha — 250

(3) Maharashtra Vidhan Sabha — 388 (4) Maharashtra Vidhan Parishad — 78
77. ‘Kyoto Protocol’ is regarding

(1) Environment

(2) Children's Right

(3) Disarmament (4) Foreign Policy
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78. dftaw WEY FIUE TERE ATA?
(1) <itfaar=n 9. (2) W=t T
(3) wifed=n &=. (4) foegomr=n &
79, AaEEE A FEEE RO S9E e ?
(1) w4 (2) Fere (3) “=Tete (4) =mfEm
80. wRar=n Figadyeia ddia Hid A= HIvd?
(1) HremER (2) wfisar
(3) WRTiHaR (4) SEvEaR
81. 3%6?1!&@1%%1?'&11&@ .................... e
(1) @ = @ L 4
i v : 4) 3
, 82, 0.0023 =1 W AYUH! HEEEd GRiciR HUE fOuE o9 @
(1) srEs wiadt wue foda 46, (2) sreiE Ed wua fedmm Jum
; (3) smfg em k. (4) srEE M AR,
83. 8 ¥t wErn T9rEEE 5 WHM WM %ol SAGd Ufeedl 99 WATH T 59 ShTEET
kL T B L O 4
(1)3:5 (2)5:2 (3)5:6 (4)3:2
84. way= =% PQRS ¥ =9 PR = 6 9 9 % QS = Eﬂtﬂ ma'l%axlﬂa W HgE
s PQRS dt uRfidt fdt? P ;s
(1) 28 =i, (2) 24 =t '
(3) 20 =, (4) 25 .
Q R
85. %% ‘0’ 9 w3 94 e 9gen s AB = 3.4 96 9 S PQ = 4.3 4t

T HEred TEHE AMen ARd. W AR (OA x OP) = f&dt?
(1) (3.4 + 4.3) ¢
(2) (3 x 3) &t PL \Q

. (3) (3.4 % 4.3) At : "0

(4) 6 =t

| NMMS-MS-SAT | vIII | S1 |
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78.

79.

80.

81.

82.

83.

35.

Which right is universal in nature?
(1) The Right to live
(3) Right to information

(2) Human Rigﬁm
(4) Right to education

The office of the International Court is located at }
(1) France (2) England (3) Netherlands (4) America
The biggest challenge before India's security is
(1) Boarder disputes (2) Religious disputes
(3) Inter-State disputes (4) Terrorism
Positive — Square rout of the number 3 Tlf_i 15
7 3 0
(1) \E @) J; 3 4 @ 3

Which of the following statement is correct with respect to the decimal number
0.0023.

(1) Can be written in non — terminating recurring form.

(2) Can not be written in non — terminating recurring form.

(3) It is an irrational number.

(4) Non-terminating non — recurring form.

A segment of length 8 cm is divided into 5 congnient parts. Find the ratio of
the first three parts to the remaining two parts.
(1) 3:5 (2) 5:2 (3) 5:6 (4) 3:2
[ 1 PQRS is a thombus. Diagonal PR = 6 cm. and
diagonal QS = 8 cm. Find the perimeter of the rhumbus PQRS.
(1) 28 cm (2) 24 cm 8
(3) 20 cm (4) 25 cm
R
In the adjoining figure “O’ is the centre of the circle and radius is 3 cm. chord

AB = 3.4 cm and chord PQ = 4.3 cm. Chord AB and PQ) are to the same side
of the centre as shown in the figure. Find distance (OA x OP) =?

(1) (3.4 +4.3) cm (2) (3 * 3) cm ;;, B
(3) (3.4 x 43) cm (4) 6 cm 0
[NMMS-MS-SAT _ [vi| Si | I




86. TH FEE fa%s 84 S T SN A 12 Y2 AR, o Trwomet 39 fRdl?
(1) 24 9t (2) 12 9wt (3) 16 Bt (4) 18 du

87. 1 §4t, 2 &t 3 3wt e e Sgeion daTeis dEiEe SA%E U
e e fEd sme?

(1) 14 ot (2) 742 & (3) 27 ¥ (4) V14 w6

88. = 2017 W wfeen 13 faaad ‘faa’ @ A Yol TEERED g o6 me
e e AR feen wfedes e qeEE FEL
23,13,40,3.2,43,5.7,48,29,5.7,43, 5.7, 6.0, 5.7

(1) 3.2 3t (2) 5.7 %t (3) 4.3 & (4) 4.8 &
89. a, b, c 3 d W TSN WA ARA. A= AY—

(a)axb=cxd (b}%=%

(c)a:b=c:d (d)axd=bxc

IEEA 3T A9 99E fae
(1) @@ a, b a ¢ TR R
(3) vod W@ b T AR.

(2) wafa b, c 3 d TR AR,
(4) =ie w4 T wWa @,

90. (x + 1) — (x — 1)* =it fFwa faeit?
(1) 3x2+5x+1_
(3) x> + 2x% + 5x

(2) 3x° —x% + 5x ‘.
(4) 223 + 322 + 5x

91, 3 ety Tee iR 3 ; 2 FGA Ao WelgE 5 a9 wEA A §elE weE
E@#mﬁmﬁmﬁg—ﬂﬁmmm#rﬂﬂ?

(1) 30 (2) 45 (3) 15 (4) 12
92. /64 - Y125 + 9 =Fadt?
(1) 12 2y . (3) 6 @ 12
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86. The area of a triangle is 84 cm® which is 12 times the base of the triangle.
Find the height of the triangle.

(1) 24 cm (2) 12 cm (3) 16 cm (4) 18 cm

87. Find the radius of the circle whose area is equal to the sum of the areas of
circles having radius | cm, 2 cm and 3 cm.

(1) 14 cm @7J2em  (3) 247 em (4) 14 cm

88. The record of daily rainfall (in centimetres) in ‘Bitaka’ village in the first 13
days of August 2017 is given below. Find the mean rainfall for these 13 days.
23,13,40,3.2,43,57,48,2.9,5.7,43, 5.7, 6.0, 5.7

(1) 32 cm (2) 5.7 cm (3) 43 cm (4) 4.8 cm

89. The numbers a, b, ¢, are in proportion. It means

(a) axb=cxd[b]%=% (cha:b=c:d (daxd=bxc

Select the correct alternative

(1) Alternative (a) (b) and (c) are correct
(2) Alternative (b) (c) and (d) are correct
(3) Only alternative (b) is correct

(4) All the above alternatives are correct.

90. Find the value of (x + 1) — (x —1)?

(1) 3x2+ 5x+1
(3) x> + 222 + 5x

(2) 3x° - x% + 5x
(4) 23 + 3x + 5x
91. The ratio of the two natural numbers is 3 : 2. If the number obtained by

subtracting 5 from the bigger number is divided by the smaller number, the
quotient is 2 Find the smaller number.

3
(1) 30 (2) 45 (3) 15 (4) 12
92. Find the value nf{u@— %l"——ﬁg + -..I"§
(1 12 (2) 2 (3) 6 @ V12
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93.

924.

95.

96.

23 x QP + o5 — 2= w2

@ 4 () g rat by () =
(1) v F9iF a ¥ c T AR

(2) 74 FEF ¢ 9 d WA AT TG FHE a 9 b T Awd
(3) TE FUF a TR AT TG FHF b I d TF AR

(4) T FHF b, ¢ d d T AR
Fefag 'O Ao 9GP @ AB wM 3R M £ CAB = 40°, sigdaed FE!
o AfEe aEd. C
@MZAZMLZB ,

= J‘!'LB
bMLZA+MLB=MZC v
e MZC=MZD %
(d) ¥@ AC L %@ BC 9= s1g® faum fae
(1) faum a, b 9% 9 faum ¢, d T a4
(2) faum a, ba ¢ T o faum d 9% R
(3) 5d faur *iER R
(4) faum ¢ Fm TR W4 faum wUe SE

uF1 At FRwa 50000 % 3R, @ o Gt fFEa 5% . W gE= auied
Vet dar frea vee fed w ea?

m2%  @P%

1
()3

196, eI
(3) 75 Yo ‘{4} g 0

1

(a “—52.::3‘—311'}*4 {b}y§+ﬁ-l}'
30 e T §
(c) m n+3 [&}I{h‘3+rz o

()%= b 3 d Tgw W&
()% b 9 ¢ TEIE AR
(3) THE wEEE GgTal AL
(4)FF a q d TEHR AR
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93.

94.

(1) Statements (a), (b) are wrong and 1_:{:], (d) are correct.

B5.

96.

aaMLAZMZELB

Find the value of 273 x (2°) + EI—T - 2°

(b) ++3 ©%2 @34
(1) Alternative (a) and (c) are correct. _
(2) Alternative () and (d) are correct and alternative (a) and (b) are wrong
(3) Alternative (a) is correct and alternative (b) and (d) are wrong
(4) Alternative (b) (c¢) and (d) are correct

(a) 4

In the adjoining figure O’ is the centre of the circle. 5 eg AB is the diameter
of the circle. M 2 CAB = 40°. Some statements are given below with respect
to the adjoining figure. Select the correct alternative.

bBIMLA+MZB=M<LC
cyMLC=MLD (d) seg AC L seg BC
(2) Statements (a), (b) and (c) are correct éud (d) is wrong.
(3) All statements are correct.

(4) Except (c) all statements are correct.

The value of a machine is 50, 000. If its value falls by 5% every year. Find
the percentage of decrease in value at the end of 2 years.

39, 39, 169 , 17,
(1) g " (2) 4;'5 (3) 25 Yo (4) %

Observe the _ﬁ]lluwing expressions and select the correct alternative
1

(b) y3 +6-2y

(d) 10x° +;T51—%I

=
(a) --;u-* ~3a+4

-

{c]nz—;Jr}
: n

(1} Only (b) and (d) are not a polynomial
(2) Only (b) and (c) are polynomials

(3) Not a single altemnative is a polynomial.
(4) Only (a) and (d) are polynomials.
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97. 59 ¥ =L (G.S.T.) 18% &1 Fa-® UF TR W9 8260 wwwen fawa
HAwl. W IR warE 2 e e
(1) 7000 =.
(3) 7260 =.

(2) 8000 =.
(4) 6980 =.

98. 7 ¥ e seeew AN % F UHU JRU%S d9 Uikl fEdr?
(1)7:3 2)3:1
(3)3:7 (4)1:3

99, W = WEE X WMER + A 9 AU 9t wgdid 9 e fae
feett =,
(a) 0 <9Ft > H=F
(c) 0 <31 > 9=

(b) 0 <= =t < wWos
(d) 0 < 9=t < ToF

(1) ¥ ad b TR
(3)FH b 7 ¢ T

(2) v=a d ==
(4) ®=a b TEL

100. 16 &° + 54 = g 3EgT F0wH?
(1) 2 (2a + 3) (4a* + 6a + 9)
(3) 2 (2a + 3) (4a + 6a — 9)

(2) 2 (2a - 3) (4a® + 6a + 9)
(4) 2 (2a + 3) (4a* - 6a + 9)
* % %k
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97. A Television set was purchased for Rs 8260 which included Goods and Service
Tax (GST) 18%. Find the original price of the T.V. Set. '

(1) 7000 (2) 8000
(3) 7260 (4) 6980
98. Find the ratio of the volume to total surface area of a sphere of radius 7 cm.
(1) 7:3 2)3:1
(3)3:7 (4)1:3

99, Dividend = Divisor * Quotient + Remainder. With respect to 'remainder’ in
the above formula, four statements are given below.

(a) 0 < Remainder = divisor (b) 0 < Remainder < divisor

(¢) 0 < Remainder > divisor (d) 0 < Remainder < divisor
. (1) Only (a) and (b) i correct (2) Only (d) is correct
(3) Only (b) and (c) is correct (4) Only (b) is correct

100.Find the factors of the expression 16a° + 54
(1) 2 (2a + 3) (4a2 + 6a + 9) (2) 2 (2a - 3) (42 + 6a + 9)
(3) 2 (2a + 3) (4a’ + 6a—9) (4) 2 (2a + 3) (42>~ 6a + 9)
ok

|vim| st | g

[NMMS-MS-SAT



